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(secondary). Sample paper (2024-25)
Roll No.

�व�ान
Science

(Physics, Chemistry, Biology)
(Hindi, English)

Academic/Open)

Time allowed 3hours। Maximum marks 60

● कृपया स�ुनि�चत कर� �क इस ��न प� म� म�ु�त प�ृठ सं�या
म� 13और 30 ��न है

● Please make sure that printed page in this
question number are 13 and it contains 30 question

●
● ��न प� के दाएं और �दए गए कोड को छा� �वारा उ�र

पिु�तका क� पहल� प�ृठ पर �लखा जाना चा�हए ।
● The code number on the right side of the question

paper should be written by candidate on the front
page of answer book.

● �कसी ��न का उ�र �लखने से पहले उसका �मांक �लखना
होगा।

● Before beginning to answer a question; its serial
number must be written.

● अपनी उ�र पिु�तका म� खाल� प�ना न छोड़।े
● Don't leave blank Page/Pages in your not work.
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● उ�र पिु�तका के अ�त�र�त कोई अ�य सीट नह�ं द� जाएगी ।
अतः आव�यकता अनसुार ह� �लख� व �लखे हुए उ�र को ने
काटे।

● Accept answer sheet no extra sheet will be given
.So write to the point and do not strike written
answer.

● पर��ाथ� अपना रोल नंबर ��न प� पर अव�य �लख�।
● Candidates must write their roll number on the

question paper.
● कृपया ��न� का उ�र देने से पहले यह स�ुनि�चत कर ले क�

��न प� पणू� व सह� है ।पर��ा के उपरांत इस �वषय म� कोई
भी दावा �वीकार नह�ं �कया जाएगा।

● Before answering the questions ;ensure that you
have been supplied the correct and complete
question paper. No claim in this regard will be
entertained after
examination.

सामा�य �नद�श:
1.सभी ��न अ�नवाय� ह�।
2.व�त�ुन�ठ ��न� के सह� �वक�प �लख�।
3.��येक ��न के अकं सामने दशा�ए गए ह�।

General instructions:
1. All questions are compulsory.
2. Write the correct answer in objective type question.
3. Marks of each questions are indicated against it.
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Q. 1 �न�न म� से कौन सा पदाथ� ल�स बनाने के काम म� नह�ं �लया
जा सकता है।
A जल
B कांच
C �लाि�टक
D �म�ट�

which of the following materials cannot be used to make
a lens .
A water
B glass
C Plastic
D clay

1 marks

Q2.य�द �कसी ए�य�ुम�नयम के तार क� लंबाई को यथावत रखते
हुए उसके अन�ु�थ काट �े�फल को 2 गुना कर �दया जाए तो उस
तार क� ��तरोधकता
A उतनी ह� रहेगी
B दोगुनी हो जाएगी
C आधी हो जाएगी
D इनम� से कोई नह�ं

Q2.If the cross sectional area of an aluminium wire is
doubled and length remaining same, its resistivity will
remain _
A same
B double
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C. halved
D'None Of These

1 marks
Q3.�व�यतु आवेश के �वाह क� दर को ____ कहते ह�?
Q 3 . The rate of the flow of charge is called_____.

1marks

Q 4 . इं�धनषु का बना �काश क� कौन सी घटना पर आधा�रत है।

Q 4. Name the phenomena on which formation of
rainbow is based?

1 marks

Q 5. �न�न�ल�खत ��न म� दो कथन है अ�भकथन A और कारण
B, ��न के नीचे �दए गए उपय�ुत �वक�प का चयन करते हुए
उ�र द�िजए_

अभीकथन( A) : द�घ� �ि�ट दोष म� आपको दरू क� व�तु �प�ट �प
से �दखाई देती है परंतु �नकट क� व�तु �प�ट �प से �दखाई नह�ं
देती।
कारण (R): द�घ� �ि�ट दोष को उ�चत �मता के उ�ल ल�स का
�योग करके ठ�क �कया जा सकता है ।
A: A और R दोन� सह� ह� तथा R, A क� सह� �या�या है ।
B: A और R दोन� सह� ह� तथा R ,A क� सह� �या�या नह�ं है।
C: Aस�य है परंतु R अस�य है।
D: A स�य है परंतु R स�य है।
Q5. The question below consist of two statements,
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Assertion (A) and Reason(R), answer the questions by
selected the appropriate option given below
Assertion (A): ln hypermetropia,a person can see the
distant objects clearly but he cannot see the nearby
objects clearly.

Reason (R): Hypermetropia can be corrected by using a
convex lens of suitable power.
A: Both A and R are true and R is thecorrect explanation
of A.
B: Both A and R are true and R is not the correct
explanation of A
C: A is true and R is false.
D: A is false and R is true.

1 marks
Q6.�या�या क�िजए �क �ह �य� नह�ं �टम�टमात।े

Q.6 Explain why the plants do not twinkle?
2 marks

Q 7 : कोई �व�यतु मोटर 220 वो�ट के �व�यतु �ोत से 5.0
एं�पयर �व�यतु धारा लेती है �व�यतु मोटर क� शि�त �नधा��रत
क�िजए तथा 2 घंटे म� मोटर �वारा �य�ुत ऊजा� प�रकि�पत
क�िजए।

अथवा
Q 6.�व�यतु धारा �कसे कहते ह�? इसका स�ू व SI मा�क �लख� ?
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Q.7 An electric motor takes 5.0 A from 220 V line .
Determine the power of the motor and energy consumed
in 2h.

Or
What is an electric current? Write formula and SI unit.

2 marks
Q 8:
a) �व�यतु धारा को �कस यं� से मापा जाता है। इस यं� को �व�यतु
प�रपथ म� �कस �म म� जोड़ा जाता है। इस यं� को �कस संकेत
�वारा �द�श�त �कया जाता है।
b) एक एं�पयर (1A) को प�रभा�षत कर�।

Q.8 a) Name a device used to measure electric current,
How is it connected in an electric circuit? Write symbol
of this device.
b) Define one ampere.

3 marks
Q 9: �कसी धारावाह� वतृाकार पाश के कारण चुंबक�य �े� का
वण�न क�िजए ।

अथवा
�व�यतु प�रपथ� तथा सा�ध�ो म� सामा�य उपयोग होने वाले दो
सरु�ा उपाय� के नाम �ल�खए तथा उनके काय� �व�ध समझाइए।

Q.9 Describe the magnetic field due to a current through
a circular loop.

Or
Name two safety measures which are used in electric
circuit and appliances. Also illustrate their working .
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3 marks

Q 10:a) उ�ल दप�ण तथा अवतल दप�ण के बीच अतंर �प�ट करो।
b) दप�ण स�ू �ल�खए।
c) 2 मीटर फोकस दरू� वाले �कसी अवतल ल�स क� �मता �ात
क�िजए।

अथवा
गोल�य दप�ण� �वारा प�रवत�न के �लए �य�ुत नई �च�� प�रपाट�
क� �या�या क�िजए।

Q 10 . a) Differentiate between convex and concave
mirror.
b) What is mirror formula?
c) Find the power a concave lens of focal length 2m

Or
Explain the new symbol convention used for reflection
by a spherical mirror.

5 marks
Section B Chemistry

Q 11: �न�न�ल�खत म� से कौन सी गैस खा�य पदाथ� म�
�वकृतगं�धता को रोकते ह�?
A) ऑ�सीजन
B) हाइ�ोजन
C)नाइ�ोजन
D) �लोर�न

Q.11 Which of the following gas prevent rancidity in edible product-
A)O₂

B)H2
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C)N2

D)Cl2
1marks

Q 12. 2AgBr➡2Ag+Br2

उपरो�त अ�भ��या �कस �कार क� अ�भ��या है?
A)ऊ�मा�ेपी B) ऊ�माशोषी C) सयंोजन अ�भ��या। D) इनम� से कोई नह�ं
Q.12 2AgBr ------2Ag + Br²

What is the type of above Reaction?

a) exothermic

b) endothermic

c) Combination

d) None of above

1 marks

��न नबंर 13: _________ एक अधातु है जो �व�यतु क� सचुालक है।

Q.13 _________ is a nonmetal which is good conductor of electricity.
1marks

��न नबंर 14: आघातवध�ता �कसे कहते ह� ?
Q 14. What is malleability?

1 marks

Q 15: �न�न�ल�खत ��न के दो कथन है:
अ�भकथन (A) और कारण ( R), ��न के नीचे �दए गए उपय�ुत �वक�प का चयन
करते हुए उ�र द�िजए।
अ�भकथन ( A) : HCl , HNO3आ�द जल�य �वलयन म� अ�ल�य अ�भल�ण �द�श�त
करते ह� ।
करण (R) : HCl तथा वन HNo3आ�द जल म� घलुकर H+ आयन देते ह� ।
A) Aऔर R दोन� स�य है तथा R , A क� सह� �या�या है।
B) A और R दोन� स�य है तथा R,A क� सह� �या�या नह�ं है ।
C) A स�य है परंतु R स�य नह�ं है।
D) A स�य नह�ं है परंतु R स�य है ।

Q.15 The question below consist of two statements :
Assertion (A) and Reason (R) , answer the question by selecting the
appropriate option given below:
Assertion (A) : HCl , HNO3, etc , show acidic characters in aqueous
solutions.
Reason ( R) : HCl and HNO3 etc , give H± ion when dissolved in water
a) Both A , and R are true and R is the correct explanation of A .
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b ) Both A and R are true but R is not the correct explanation of A.
c)A is true but R is false .
d) A is false but R is true

1 marks

Q 16: �वयोजन अ�भ��या से आप �या समझते ह�? रासाय�नक समीकरण स�हत
एक उदाहरण द�िजए।

Q.16.What are decomposition reaction? Give one example with chemical
equation?

2marks
17: धावन सोडा का रासाय�नक स�ू और दो उपयोग �लखो।

Q 17 . Write the chemical formula and two uses of washing soda .
2 marks

Q 18: तीन �वलयन�, A,B,C क� जब साव���क सचूक से जांच क� जाती है तो pH के
मान �मशः 0,7,14 �ा�त होते ह�। कौन सा �वलयन -
A) उदासीन है?
B) �बल �ार�य है ?
C) �बल अ�ल�य है?

Q.18. The solutions A, B,C when tested with universal indicator showed
pH as 0,7,14 respectively, which solution is -
a) Neutral
b) Strongly alkaline
c) Strongly acidic

3 marks

��न नबंर 19: इन अ�भ��याओं के �लए समीकरण �ल�खए  :
i) भाप के साथ आयरन
ii) जल के साथ कैि�शयम
iii) जल के साथ पोटै�शयम

अथवा
ख�नज और अय�क म� तीन अतंर �लखो ।

Q 19 . Write equation for the reaction of :
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i) Iron with steam
ii) Calcium with water
iii) Potassium with water

Or
Write any three difference between a mineral and ore .

3 marks

Q 20 a) साइ�लोपे�टेन का स�ू तथा इले��ॉन �बदंु सरं�ण �या ह�गे ?
b ) �योग �वारा आप अ�कोहल एवं काब�सि�स�लक अ�लअमल म� कैसे अतंर कर
सकते ह� ?

अथवा
a) �न�न�ल�खत यौ�गक� के नाम �ल�खए -
i) CH3-CH2- CH - OH
ii) CH3- CH2- CH2- OH
b) �न�न�ल�खत यौ�गक� क� सरंचनाएं �चि�हत क�िजए।
i) एंथेनॉल अ�ल
ii) हे�सेनलै
iii) �यटेूनोन

Q 20.a) Write the chemical formula and electron dot structure of
cyclopentane .
b)How would you distinguish experimentally between an alcohol and a
carboxylic acid ?

Or
a) write name of following compounds
i)CH3- - CH 2 - CH- OH
ii) CH3- CH2- CH2- OH
b) Draw the structure of the following compounds
i) ethanoic acid
ii) Hexanal
iii) Butanon

5marks

Section C(Biology)
Q 21 : मानव मादा म� ल��गक गणुस�ू है:
a)XX
b) ZZ
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c) YY
d) XY

Q 21. Sex chromosome present in human female is :
a) XX
b) ZZ
c) YY
d) XY

1 marks
Q 22 : �न�न म� से कौन आहार �ृंखला का �नमा�ण करते ह� :
a) घास , गेहंू तथा आम
b) घास ,बकर� तथा मानव
c) बकर� ,गाय तथा हाथी
d) घास ,मछल� तथा बकर�

Q 22 .Which of the following constitute a food chain?
a) Grass, wheat and mango
b) Grass , Goat and human
c) Goat, Cow and Elephant
d) grass,fish and goat

1 marks

Q 23: प�ृवी को पराब�गनी �करण� से बचाने वाल� परत का नाम_________है।

Q.23. _________ protects earth from the harmful ultraviolet radiations.
1marks

Q 24: कौन सी �ं�थ हाम�न और एंजाइम दोन� �ा�वत करती है?
Q. 24. Which endocrine gland secretes both hormones and enzymes.

1 marks

25: अ�भ कथन: A) आयोडीन य�ुत नमक के उपयोग क� सलाह द� जाती है।
करण:R) थायरॉि�सन हाम�न बनाने के �लए आयोडीन क� आव�यकता होती है। यह
हाम�न �ोट�न, वसा तथा काब�हाइ�टे के उपाचयन को �नय�ं�त करता है।
A)Aऔर R दोन� स�य है तथा R , A क� सह� �या�या है।
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B) A और R दोन� स�य है तथा R,A क� सह� �या�या नह�ं है ।

C) A स�य है परंतु R स�य नह�ं है।

D) A स�य नह�ं है परंतु R स�य है ।

Q.25 Assertion (A) : It is advised to take Iodized salt
Reason ( R) : Iodine is essential to make thyroxine hormone which
controls the metabolism of carbohydrate , protein and fat.

1 marks

Q26: ��तवत� ��या मे मि�त�क क� �या भ�ूमका है?

Q.26.What is the role of the brain in reflex action ?
2 marks

Q 27: परागण ��या �नषचेन से �कस �कार �भ�न है?

Q.27.How is pollination differ from fertilization?
2 marks

Q28: मादा जनन त�ं का �च� बनाओ।
Q.28 . Draw a well labelled diagram of female reproductive system.

3 marks
Q 29 : म�डल के �योग से कैसे पता चला क� �व�भ�न ल�ण �वत�ं �प से वशंानगुत
होते ह�?

अथवा
एक नीले फूल वाले पौधे का सकंरण एक सफेद फूल वाले पौधे (BB) से करवाया :
i) �थम सतं�त के फूल� का रंग कैसा होगा?
ii) दसूर� सतं�त म� समपरागण �वारा �ा�त फूल� का ��तशत �कतना होगा? स�च�
�या�या क�िजए।

Q.29. How do Mendal's experiment show that traits are inherited
independently?

Or
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A blue coloured flowering plant (BB) was crossed with white coloured
flowering plant (BB)
i) What will be the color of flowers in F1 generation?
ii) What percentage of white flowered plants will be in F2 generation
through self pollination of F1 plants .Explain with diagram.

3 marks
Q30:
a) एक प�ी के अन�ु�थ काट का नामां�कत �च� बनाइए ।
b) �काश स�ंलेषण ��या के दौरान होने वाले �व�भ�न घटनाओं को �ल�खए।

अथवा
a) मानव �दय का �यव�था�मक काट ��य का नामां�कत �च� बनाइए।
b) पाचन ��या म� लार एवं �प�रस के काय� का वण�न कर�।

Q.30. a) Draw a cross- section of a leaf and label it .
b) Describe various events taking place during photosynthesis.

Or
a) Draw a labelled diagram of cross - section of the human heart.
b) Describe the role of saliva and bile juice in the process of digestion

5 marks.


